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#include <stdio. h>
#include <stdlib.h>
#include <math.h>
#include <assert.h>

int main() {
int NE, N, NPLU, l|terMax, errno, NPLUO;
int R, Z, Q, P, DD, ip;

double dX, Resid, Eps, Area, F, Young, Jacobi;

double X1, X2, X3, U1, U2, U3, DL, Strain, Sigma, Ck, XX, XO, A1, A2, DISP;
double *U, *Rhs, =*X;

double *Diag, *AMat;

double *xW;

int *Index, *ltem, *lcelnod;
double POI[2], WEI[2], dNdQ[3], Emat[3][3];

int i, J, inl, in2, in3, k, icel, k12, k13, k21, k23, k31, k32, jS;
int iter;

FILE *fp;

double BNorm2, Rho, Rhol1=0.0, C1, Alpha, DNorm2;

int ierr = 1;
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fp = fopen(“input2.dat”, “r”);
assert(fp != NULL) ;

fscanf (fp, “%d”, &NE);

fscanf (fp, “%If %If %If %If %If",
fscanf (fp, “%d”, &lterMax);
fscanf (fp, “%If”, &Eps);

&dX, &F, &A1,

fclose (fp) ;

N = 2+«NE + 1;

NPLUO= 2%2 + NEx2 + (NE-1)x*4;

U = calloc(N, sizeof (double))

X = calloc(N, sizeof (double))
Diag = calloc(N, sizeof (double));
AMat = cal loc (NPLUO, S|zeof(double))

Rhs = calloc(N, sizeof (double));
Index= cal loc (N+1, sizeof(int));
Item = cal loc (NPLUO, sizeof (int));

lcelnod= calloc (3*NE, sizeof (int));

gEZ 5 (2/7)
i

RE, BESEE

&A2, &Young) ;

23
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gEZ 5 (2/7)
i

HRE, BBHIES

fp = fopen ("input2.dat”, “r”);

assert (fp = NULL) ;

fscanf (fp, “%d”, &NE);

fscanf (fp, “%If %If %If %If %If”", &dX, &F, &A1, &A2, &Young);
fscanf (fp, “%d”, &lterMax);

fscanf (fp, “%If”, &Eps);

fclose (fp) ;
N = 2xNE + 1;
NPLUO= 2%2 + NEx2 + (NE-1)*4;
U = calloc(N, sizeof(double))
X = calloc (N, sizeof (double))
- S R
at = calloc slzeof (double - .
thfj = cal chJc (l\gN ?lzeqf (d%éble%g Amat :  JEFIEXI AR
ndex= cal loc (N+1, sizeof(int)); . NI | =
|tem = cal loc (NPLUO, sizeof (int)); I tem : ?’TFET%)?J%?

lcelnod= calloc (3*NE, sizeof (int));

25
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vy w 1 v

W= (double xk)mal loc (sizeof (double *)*4) ;

if(W==NULL) {
fprintf (stderr, “Error: %s¥n”, strerror(errno));
return -1;

}
for (i=0; i<4; i++) {
W[li]l] = (double *)malloc (sizeof (double)*N) ;
if W[i]l == NULL) {
fprintf (stderr, “Error: %s¥n”, strerror(errno));
return -1;

for (i=0; i<N; i++) ULil] = 0.0;
for (i=0;i<N;i++) Diagli] = 0.0;
for (i=0;i<N;i++) Rhs[i] = 0.0;

ﬁorgk=8 kéNPLUO)k;E)] AMa5£k6 E 0.0;

or (i=0; i<N; i++ i]= i%dX* 5

for (icel=0;icel<NE;icel++) { X: 2 ROER
lcelnod[3*icel 1= 2xicel;
lcelnod[3*icel+1]= 2xicel+1;
lcelnod[3*icel+2]= 2xicel+2;

+1.0;
+1.0;
-0. 577350;
+0. 577350;

29
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W = (double *xx)mal loc (sizeof (double *)x*4) ;

if (W ==NULL) {

fprintf (stderr, “Error: %s¥n”,

return -1;

J
for (i=0; i<4; i++) {

30

5551 (3/7) #EAME (BeE)

strerror (errno)) ;

W[li]l] = (double *)malloc (sizeof (double)*N) ;

if(W[il == NULL) {

fprintf(stderr, “Error:

return -1;

for (i=0; i<N; i++) ULil] = 0.0;
for (i=0;i<N;i++) Diagli] = 0.0;
for (i=0;i<N;i++) Rhs[i] = 0.0;
for (k=0; kKNPLUO; k++) AMathJ =0.0;

for (i=0; i<N; i++) X[il= i*dXx0.5;
for (icel=0; icel<NE; icel++) {
lcelnod[3*icel ]= 2xicel;

lcelnod[3*icel+1]= 2*icel+1;
lcelnod[3*icel+2]= 2*icel+2;

J

WEI[0]= +1.0;
WEI[1]= +1.0;
POI[0]= -0. 577350;
POI[1]= +0.577350;

%s¥n” strerror (errno)) ;

icel
® O ®
Icelnod[3*icel] Icelnod[3*icel+2]
=2*icel =2*icel+2

Icelnod[3*icel+1]
=2*icel+1
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FEARINI VR FEFIEXTARTIIH LT SIS

/%
22 | CONNECTIVITY | ELIE @@ ol 0 (@) s 000
*/ | |

Index [0]= 0; THER @ —o—@—o .{9_.__._._._._._.

=1; D+t

fo?él(}%éiﬂi; {%néex[i]:4; 22

| 5218[?]: 2; HndexCi]=2:7} s

Index[NI= 2. e | (@0 —0—0—e—

for (i=0;i<N; i++) {
Index[i+1]= Index[i+1] + Index[i];}

NPLU= Index[N];
for (i=0; i<N; i++) {
int jS = Index[i];

if(i =0){
ltem[jS ] = i+1;
Item[jS+1] = i+2;
telse if(i == N-1){
ltem[jS ] = i-2;
Item[jS+1] = i-1;
Jelse{
if (i%2=1){
Item[jS ] = i-1;
Item[jS+1] = i+1;
} else 1
ltem[jS ] = i-2;
ltem[jS+1] = i-1;
Item[jS+2] = i+1;
Item[jS+3] = i+2;}}]

*—(®
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*
2 i CONNECTIVITY i
/ . .

Index [0]= O;

for (i=1;i<N; i++) {
it (i%2==1) {Index[i]=4;
}else {Index[i]=2;1}}

Index[1]= 2;
Index[N]= 2;
for (i=0;i<N; i++)

Index[i+1]= Index[i+1] + Index[i];}

NPLU= Index[N];
for (i=0;i<N; i++)

{

{

gz 215 (4/7)
EARTN)OR EFIEXNARL I IGT HINHES

int jS = Index[i];

if(i ==

lelse if

lelse{

} else

0) {

| tem
| tem
(i =
| tem
| tem

[tem
[tem

[tem
[tem
[tem
[tem

[}S

[jS

[jS ]
[jS+1]
="N-1) {

[jS+1]

if (i%2=1{
[jS ]
JST'

[[S+1]
[ 15+2]
[15+3]

1+2;  TIRD
Eim:2D

i+2;11}}

@Tgl—o—o—o—o—o—c—f

|

Item(jS)

ltem(jS+1)

Item(jS)

Item(jS+1)
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gz 215 (4/7)
EARTN)OR EFIEXNARL I IGT HINHES

*
2 i CONNECTIVITY i
/ . .

Index [0]= O;
for (i=1;i<N;i++) {

it (i%2==1) {Index[i]=4;

Jelse {Index[i]=2;}}
Index[1]= 2;
Index[N]= 2;
for (i=0; i<N; i++) {

Index[i+1]= Index[i+1] + Index[i];}

NPLU= Index[N];
for (i=0; i<N; i++) {
int jS = Index[i];

if(i =0){
ltem[jS ] = i+1;
[tem[jS+1] = i+2;
felse if(i == N-1) {
Item[jS 1 = i-2;
[tem[jS+1] = i-1;
Jeige tino=n |
| |0::
ltem[jS 1 = i-1; WHM#HR ® o
| ol |’Eem:JSJ{1: = i+1; 22 _f@"\_' o090
else
Item[jS ] = i-2; / N\
em[ise2] =t emgs)  tem(s+)
Item[}S+3] = i+2;}})
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gz 215 (4/7)
EARTN)OR EFIEXNARL I IGT HINHES

*
2 i CONNECTIVITY i
/ . .

Index [0]= O;
for (i=1;i<N;i++) {

it (i%2==1) {Index[i]=4;

Jelse {Index[i]=2;}}
Index[1]= 2;
Index[N]= 2;
for (i=0; i<N; i++) {

Index[i+1]= Index[i+1] + Index[i];}

NPLU= Index[N];
for (i=0; i<N; i++) {
int jS = Index[i];

if(i'==0){
ltem[jS 1 = i+1;
[tem[jS+1] = i+2;
telse if(i == N-1) {
ltem[jS ] = i-2;
[tem[jS+1] = i-1;
}egieng__w{ ltem(jS+1)  ltem(jS+2)
(9==
Iggm;j§+1; = :;}; ltem(jS) ltem(jS+3)
} elseI : S{ ] )
tem[jS 1 = i-2; " N\ y ¥
ten[j$+1] = i-1; EZEME @ o @ ol @ o (@) 0100
|temj$+2j = j+]; OHIR:4D
Item[jS+3] = i+2:}}}
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| MATRIX assemble |

KON
NN ¥

for (icel=0; icel<NE; icel++) {
inl= lcelnod[3*icel]; icel
in2= lcelnod[3*icel+1];
in3= lcelnod[3*icel+2];

X1 = X[inl];
X2 = X[in2]’ (inL g in2 2 in3)
X3 = X[in3]

DL = fabs (X3-X1) ;
X0 = 0.5 * (X1+X3) ;
Emat [0] [0]= 0.0;
Emat[0] [1]= 0.0;
Emat[0] [2]= 0.0;
Emat[1][0]= 0.0;
Emat[1][1]= 0.0;
Emat[1][2]= 0.0;
Emat[2] [0]= 0.0;
Emat[2][1]= 0.0;
Emat[2][2]= 0.0;
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for (ip=0;ip<2;ip++) {
dNdQ[0]= -0.5 + POI[ip];
dNdQ[1]= -2.0 % POl [ip];
dNdQ[2]= 0.5 + POI[ip];
XX= X0 + POI[ip]*0. 50+DL;
Area= A1xXX + A2;

if(Area<= 0.) {
fprintf (stderr, “ERROR: Area<0: ¥n”);
return -1;

Jacobi= fabs (dNdQ[0]*X1 + dNdQ[1]*X2 + dNdQ[2]*X3) ;
Ck= Areax*Young/Jacobi ;

Emat[0] [0]= Emat[0][0] + Ck * WEI[ip] * dNdQ[0] * dNdQ[O];
Emat[0] [1]= Emat[0][1] + Ck * WEI[ip] * dNdQ[0] * dNdQ[1]:
Emat [0] [2]= Emat[0][2] + Ck * WEI[ip] * dNdQ[0] * dNdQ[2]:
Emat[1][0]= Emat[1]1[0] + Ck * WEI[ip] * dNdQ[1] * dNdQ[O]:
Emat[1][1]= Emat[1][1] + Ck * WEI[ip] * dNdQ[1] * dNdQ[1]:
Emat[1][2]= Emat[11[2] + Ck * WEI[ip] * dNdQ[1] * dNdQ[2]:
Emat [2] [0]= Emat[2][0] + Ck * WEI[ip] * dNdQ[2] * dNdQ[O]:
Emat[2] [1]= Emat[2][1] + Ck * WEI[ip] * dNdQ[2] * dNdQ[1]:
Emat [2] [2]= Emat[2][2] + Ck * WEI[ip] * dNdQ[2] * dNdQ[2]:
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for (ip=0;ip<2;i
de0[0]= -0.
dNdQ[1]= -2.
dNd@[2]= O.
XX= X0 + PO
Area= A1%XX
if (Area<= 0.)

fprintf (stderr,

return

}

Jacobi= fabs (dNdQ[0]*X1 + dNdQ[1]*X2 + dNdQ[2]*X3) ;

{
-1;

Ck= Area*Young/Jacobi ;

Emat [0] [0]=

Emat[0] [0]
Emat[0] [1]

+++ 4+ ++++ 4+

Ck
Ck
Ck
Ck
Ck
Ck
Ck
Ck
Ck

* X X X X ¥ X X ¥

——
MMM mrmrmrmrmrm

{ o | e | s | s | s | s | v | s | oy |

T T T T TTOTOTOT

38
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{ IS | IS | IS | IS | S | — | S— | S— —

* X K K X ¥ X X ¥

“ERROR: Area<0: ¥n”);

L
L L2
£=-1 £=0 F=+1
O—o—o——0
& &

dNdd XX HDRBED mIZHITHERE
N9 Area: XXIZH 142 ETE

dNdQ|1] * dNdQ|O0];
dNdQ[1] * deO[I];
dNdQ[1] * dNdQ[2];
dNdQ[2] * dNdQ[O0];
dNdQ[2] * dNdQ[1];
dNdQ[2] * dNdQ[2];



Report-01

HDRIES R TOXERE

e FAYNTARN)OER L

“RE®R

NDEZELY
:ZB:N (&)X, =1

L/2

£=0

g+l

()xm(g)xz nex oo
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:x1_|2_X X Xlg ...X2:X1_|2_X3

. XX= X0 + POl [ip]=*0. 50*DL;
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gEEBI(6/7) 1THIAERL(2/3)

for (ip=0;ip<2;ip++) {
dNdQ[0]= 0.5 + POl [ip];
dNdQ[1]= -2.0 * POl [ip];
dNdQ[2]= 0.5 + POI[ip];
XX XOAJ{ ;2' [IR%*O 50*DL ; ;
rea= A1xXX +
Jacobi:-gizzké—EZ(Nim%
IThreas™. 0. atderr, “ERROR: Areac0: ¥n") el o
printf (stderr, . Area<0: ¥n
return -1; _ Z ON; | [Ny y +8N2
o& % o 1 B¢
Jacobi= fabs (dNdQ[0]*X1 + dNdQ[1]%X2 + dNdQ[2]*X3) ;
Ck= Areax*Young/Jacobi ; o o o
Emat[0] [0]= Emat[0][0] + Ck * WEI[ip] * dNdQ[0] * dNdQ[0];
Emat[0] [1]= Emat[0][1] + Ck * WEI[ip] * dNdQ[0] * dNdQ[1]:
Emat[0] [2]= Emat[0][2] + Ck * WEI[ip] * dNdQ[0] * dNdQ[2]:
Emat[1][0]= Emat[1][0] + Ck * WEI[ip] * dNdQ[1] * dNdQ[0];
Emat[1][1]= Emat[1][1] + Ck * WEI[ip] * dNdQ[1] * dNdQ[1];
Emat[1][2]= Emat[1][2] + Ck * WEI[ip] * dNdQ[1] * dNdQ[2]:
Emat[2] [0]= Emat[2][0] + Ck * WEI[ip] * dNdQ[2] * dNdQ[0];
Emat[2] [1]= Emat[2][1] + Ck * WEI[ip] * dNdQ[2] * dNdQ[1];
Emat[2][2]= Emat[2][2] + Ck * WEI[ip] * dNdQ[2] * dNdQ[2];
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gEEBI(6/7) 1THIAERL(2/3)

for (ip=0; ip<2;ip++) {

dNdQ[0]= -0.5 + PO i = .

dNdQ[1]= -2.0 * PO ON; ON,  ON; ON, ON,; ON,

deQ[Z]: 0.5 + PO aé: 55 ag aé: aé: aé:

K= X0 + POILIRTH0. 1 Emary ~ £, . L | |aN, AN, ON, AN, 6N, oN,

Area= AT = A2 G| | 06 08 o8 a& of og

if (Area<= 0.) f{ ON; ON;  ON; ON, 0N, ON,
fprintf (stder | 08 0 08¢ 0& ¢ OC |

Jacobi= fabs (ANdQ[0]*X1 + dNdQ[1]*X2 + dNdQ[2]*X3) ;

Ck= Area*Young/Jacobi ; - o o

Emat [0] [0]= Emat[0] [0] + Ck * WEI[ip] * dNdQ[O] * dNdQ[O];

Emat [0] [1]= Emat[0][1] + Ck * WEI[ip] * dNdQ[0] * dNAQ[1]:

Emat [0] [2]= Emat[0][2] + Ck * WEI[ip] * dNdQ[0] * dNdQ[2]:

Emat[1][0]= Emat[1][0] + Ck * WEI[ip] * dNdQ[1] * dNAQ[O]:

Emat[1][1]= Emat[1][1] + Ck * WEI[ip] * dNdQ[1] * dNdQ[1];

Emat[1][2]= Emat[1][2] + Ck * WEI[ip] * dNdQ[1] * dNdQ[2];

Emat[2][0]= Emat[2][0] + Ck * WEI[ip] * dNdQ[2] * dNdQ[O];

Emat [2][1]= Emat[2][1] + Ck * WEI[ip] * dNdQ[2] * dNdQ[1]:

Emat[2] [2]= Emat[2][2] + Ck * WEI[ip] * dNdQ[2] * dNdQ[2];

=4y
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gEEH (7/7) 1THIHE R (3/3)

1d2.c&RIL

Diaglin1]= Diagl[in1] + Emat[

iag[i iag[i 0] [0] .
Diag[in2]= Diag[in2] + Emat[1][1];
2112];

Diag[in3]= Diag[in3] + Emat[
if (icel==0) {k12=Index[in1];

k13=Index[in1]+1;
}else {k12=Index[in1]+2;
k13=Index[in1]+3;

k21=Index[in2];
k23=Index[in2]+1;

k31=Index[in3];
k32=Index[in3]+1;

AMat[k12]= AMat[k12] + Emat[
AVat [k13]1= AMat [ki3] + Emat|
AMat [k211= AMat[k21] + Emat|
AMat [k23]1= AMat [k23] + Emat |
AMat [k31]1= AMat [k31] + Emat|
AMat [k32]= AMat [k32] + Emat[

I'\DI I'\DI Idl Idl IC;: IOI

—SNeN =

1978 :inlD EX AR5
2178 in2D EXAB RS
3978 :in3D IEXF AR

k21
k31

k12

k32

k13 |

k23
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gEEH (7/7) 1THIHE R (3/3)

1d2.c&RIL

Diagl[inl]= Diagl[inl] + Emat[0
Diag[in2]= Diag[in2] + Emat[1
Diaglin3]= Diag[in3] + Emat[2

if (icel==0) {k12=Index[in1];

k13=Index[in1]+1;
lelse {k12=Index[in1]+2;
k13=Index[in1]+3;

k21=Index[in2];
k23=Index[in2]+1;

k31=Index[in3];
k32=Index[in3]+1;

AMat[k12]= AMat[k12] + Emat[
Aliat [ki3]= AMat[k13] + Emat[
AMat [k21]= AMat[k21] + Emat[
AMat [k23]= AMat[k23] + Emat[
AMat [k31]= AMat[k31] + Emat [2]
AMat [k32]= AMat[k32] + Emat [2]

N —=—=OO

1[0];
1[1];
1[2];

I

1978 :inlD EX AR5
2178 in2D EXAB RS
3978 :in3D IEXF AR

k21
k31

k12

k32

k13 |

k23
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